Name:  _____________________________ (please print)

Signature: __________________________

ECE 2300 -- Quiz #3

Shattuck Section – TuTh Noon

June 22, 2006

Keep this quiz closed and face up until you are told to begin.

1.  This quiz is closed book, closed notes.  You may use one 8.5” x 11” crib sheet, or its equivalent.

2.  Show all work on these pages.  Show all work necessary to complete the problem.  A solution without the appropriate work shown will receive no credit.  A solution which is not given in a reasonable order will lose credit.

3.  It is assumed that your work will begin on the same page as the problem statement.  If you choose to begin your work on another page, you must indicate this on the page with the problem statement, with a clear indication of where the work can be found.  If your work continues on to another page, indicate clearly where your work can be found.  Failure to indicate this clearly will result in a loss of credit.  

4.  Show all units in solutions, intermediate results, and figures.  Units in the quiz will be included between square brackets.

5.  Do not use red ink.  Do not use red pencil.

6.  You will have 30 minutes to work on this quiz.

________________/20

Room for extra work


The voltmeter shown in the circuit can measure voltages from –25[V] to +25[V].  The full scale currents range from –7[mA] to +7[mA]


The variable resistor RV is adjusted until the voltmeter reads zero.  At this time, RV = 18[k], and the power delivered by the current source is 580[mW].

a) Find RX.  

b) Find iS.
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Room for extra work

ECE 2300 -- Quiz #3 – June 22, 2006 – Noon TuTh Shattuck Section Solution


The voltmeter shown in the circuit can measure voltages from –25[V] to +25[V].  The full scale currents range from –7[mA] to +7[mA]


The variable resistor RV is adjusted until the voltmeter reads zero.  At this time, 
RV = 18[k], and the power delivered by the current source is 580[mW].

[image: image2.png]a) Find Rx.
b) Find is. R £

12[1(!2] —

1 5[kQ], 3.3[kQ]
! / (M

2.2[kQ]
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Because the voltmeter reads zero, the curveat L =0,
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_U—UJ -)-U-M +U—‘Z' :’O ) WA,\cA Wl"ét\
Um :O, 3;de$
()—W = Ui .

We Flb\j in ouv -{;.WS{' fk/(). 670(5,“&;0105 /xn +o f[,;s‘)

)
Cance Uy , o 3e-é

H(ka 18§03
L] = i = 0.8%§
9.788 +Rea 18 8es) +2.3 [k 23

or

Y. 7/ksd+ Rea = 5.56 [kﬂ})

which gives

Req = 86afn3 = I.S[en3l] Rx

TL\uS 1 . ' - | .
Ry =~ %62in) Isoofn]

Our S‘o/u’tfon p S

-l
Rx :.((l.l(,xzo"?'> —(O.emxlo'z’)) inl

YKX = 2‘03[}<ﬂ_}7 Sef)eqh:c'f
- 3





[image: image4.png]Room for extra work

b) 70 fu‘n& [:5 , we use 'L”\e fact fka‘f) outslide of
‘Z’Le cwven’é .S‘Ouw(e) a./, z','lne rest' of flvx\l C;Y‘Cua“‘f
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PoeL sy cs - Pass sy g = s Rt

whece Ry 7s  the total resistance of all The

res}:i:omces. Lets redvraw the chcurt.
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We ]e‘HJ oa’é ‘f:’tve mefe_f re;u".r’fcmce)
know there 1s no cuvvreat 'H\f‘ouolw "'é') anch  Theve
Cannct be any effect from ' T
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See next

Pase.
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